7.1 Answers
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1) Ktown has less than 50
teachers.
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2) Ramstein has no less than
1050 students.
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3) Baumholder does not have
400 students.
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4) The Cavs will win no more
than 44 games next season.
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5) The Browns will not win 6
games.
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6) The Buckeyes will win
more than 9 games this
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Directions: Graph each inequality.
7) nz-5 8) 5=n
_9

-7 46-5 4-3-2-101 2 3 435 6 7

-7-6-5-4-3-2-101 2 3 4 6 7

9 1>k

-7T-6-5-4-3-2-10 i 2 3 4 5 6 7

v<2

-7-6-5-4-3-2-120 l@S 4 5 6 7




-17-6-5-4-3-2-10 12 3 4 5 6 7

12) —5<x

-7-6-5-4-3-2-10 12 3 4 5 6 7
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Directions: Write the inequality for the give
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Solve each absolute value equation.
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Graph the line. Evaluate. Solve.
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